KENDRIYA VIDYALAYA , BHU (FS) , VARANASI
CLASS XI (2024-25) MONTHLY TEST : ECONOMICS
TIME: 90 MINUTES M.M. : 40
INSTRUCTIONS :

1. Q1to 10 are MCQs of 1 mark each. Q 11-12 are SAQs of 3 marks each.
2. Q13-15 are SAQs of 4 marks each. Q 16-17 are LAQs of 6 marks each.

1. Choose the correct option from the given alternatives :

Assertion (A) : The prices of the goods in the market determine MRS.

Reason (R) : MRS is the slope of IC.

a) Both Assertion and Reason are true and reason is the correct explanation of assertion.

b) Both Assertion and Reason are true and reason is not the correct explanation of assertion.
c) Assertion is true but Reason is false  d) Assertion is false but Reason is true

feT 7T fashedt & @ &L fashed g |

araT (A) : STOIR & a&g3il T HAT MRS AR FAT &1 HROT (R): MRS, ICHT Telrel B
a) IAFUT U9 HROUT AT T § UF FROT AAFUT Hr g arear § |

b) 3ITAFUT T FROUT GAT T § 3R FROT 3fHFUT Fr F@Er sarear 187 gl

¢) HADYT HF § W FROT 30T ¢ | d) AU 3T § W HROT FeF 8

2. Delta Y/Delta X is

a) the slope of budget line b) the slope of indifference curve
c)bothaandb d) none of these
Delta Y/Delta X gl

a) ST XWT T Gl b) 3ETHTAT dsh Y Tollel ¢) T TG & Sl d) 5T & IS g

3. At the point of saturation (satiety), total utility becomes .
a) minimum b) constant c) maximum d) negative

qJfed & fdg w, el sufarar gl Sl §
a) FTTH b) R ¢) 3TTAhcAH d) ROTcHSR

4. The consumer is in equilibrium and is consuming Good X only. The marginal utility from
last consumed of Good X = 20 utils and the price of the commodity =Rs. 4, MUm will be :

SUHIFAT Aol H § TG shael a&q X I IYHNT I T g1 a&c X HT 3iaH o &
AT 3YARNAT = 20T TE] H FAT = T4, MUm BT

a)4d b) 5 c)16 d) 24

5. Graphical presentation of a cumulative frequency distribution is called .
a) pictograph b) histogram c) ogive d) polygon
e 3rgicd faaRor i e FEgfa 1 gl Sirar § ¢

a) el b) 3Tl fa c) AROT ash d) SgaTsT

6. Choose the correct option from the given alternatives :

Statement 1: In multiple bar diagram , separate bars are drawn to present separate sets of
values.

Statement 2: Pie diagrams are drawn only when percentage distribution of the value is to be
diagrammatically presented. Alternatives:

a) Both the statements are true b) Both the statements are false

c) Statement 1 is true and Statement 2 is false d) Statement 2 is true and Statement 1 is
false

feT 1T fashedt & @ WEr AT Y| HYUA 1: THIfH aR NG H , AT & 3HelT-3eldT
T T A & T 3ol gus Wi Sl § | YT 2:9d NG hdel el el
ST & , St o &7 Jiaerd facRor 3RET &9 @ 9&dd fhar S g1l fase :

a) ClAT FUT T § b) A FUT 3TT & ¢)FUT 1 TT § T YT 2 3TT ¢ |

d) YA 29T § T HUA 130T g




7. is a form of geometric data presentation.

a) Pie diagram b) Polygon c) Histogram d) None of these
SIAIT 31T T TH & gl
a) gd 3@ NEIRIGREE] c) SgeTST d) A8 & PIS AT
8. An/A series is that series which includes all items upto its upper limit.
a) inclusive b) exclusive c) open end d) cumulative frequency----.
Gl g8 Al § ST gqehl 398 AT o Tl HoF A gl &
a) gATILN b) 3Taasit c) gel faarelr d) FedY e

9. Identify the correct formula to calculate Magnitude of a class interval.

T HA & GRATOT FT 0T & fAT FEY G A g S

a) 12-11 b) 12+I1 c) 12/11 d) 12*11

10. Choose the correct option from the given alternatives :

Assertion (A) : Histograms are never drawn for a discrete variable.

Reason (R) : In histograms , both length and breadth of the rectangles are considered for the
purpose of comparison.

a) Both Assertion and Reason are true and reason is the correct explanation of assertion.

b) Both Assertion and Reason are true and reason is not the correct explanation of assertion.
c) Assertion is true but Reason is false  d) Assertion is false but Reason is true

feT v fAshedl & @ & Aeved o |

grar (A): 3 T 3 Y |, RAfdea @ & v J&F s a9 §1 FRoT (R): 3T R
#, Jolell o 32T &, A &1 Fars 3R IS, gt W faar f&har S g

a) 3 UT U9 HRUT ST T § TF HROT iAFAT Hr e arEar § |

b) 3IfAFUT TF FROUT AT T ¢ 3R FROT 3fHFUT Fr T sarear 767 gl

c) HARYA Feg § W HRUT 3T & | d) JFRYA 38T § W HROT T ¢

11. How will you convert an inclusive series into an exclusive series ?

T FATQLN AT H HTas H@er # 8 aRafdd FEr

12. Distinguish between Cardinal and Ordinal theory of utility .

3YAQANAT F IUEATIS ATT JAT hAdrad AT H AR TISC HFRT ?

OR
Define utility . State the relationship between Total utility and Marginal utility .

3T T IR AT | FeT IR vd FAT ITARNA & oy deer faf@e

13. Construct a histogram and frequency polygon from the following data :

AT @ 3Miehst & Toh 3T =T vd g ag3st =0 |

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
No. of 10 16 20 20 22 15 8 5
students

14. State any four properties of Indifference curves. dACEIAT dsh $r ﬁé’ IR fawame
fof@T|

15. A consumer wants to consume two goods. The prices of the two goods are Rs. 4 and Rs.5
respectively. The consumer’s income is Rs. 20.

Teh SUHIFAT &1 a3 1 YT Aol & TV gT5eh § | all a&q3i &1 hrad
HHA: T4 TAT 58| STHIFAT ST 3T 22081
i) Write down the equation of the budget line. S3C @M & HOT F o@w|

ii) How much of Good 1 can the consumer consume , if he spends the entire income on that

good? A IUHIFAT U TYUT 3T d& 1T & HX &, al a6 3h! fohelail HET
HT 3UHT F ThdTl ¢ ?



iii) How much of Good 2 can the consumer consume , if he spends the entire income on that

good? I UMl 3Uel YU 3T GF 2T TT X ¢, Al T6 3T Fohelall AT
T 3TSHNET HT HheTl & ?

iv) What is the slope of budget line? SoTc Y@T T &olled FAT g ?

16. A consumer consumes only two goods X and Y . The marginal rate of substitution is 2.
Prices per unit of goods X and Y are Rs. 5 and Rs. 4 respectively. Is the consumer in
equilibrium? What will be the further reaction of the consumer ?

Th IYNFAT hael & TEIIHT FT ITHNT FIAT & XTF ¥ | HAT Fr gfaedmie 3
28 IXUE YT Ui Sohig 1A HAA: 53R 4 | T SYINFAT HJolel A &2

sq fRufa 7 3usierar $r gfafear fr sarear fifav)

OR
Sumit has Rs. 90 with him. He intends to purchase goods X and Y with his money. The market
price of Xand Y is Rs. 10. The marginal utility schedule of Goods X and Y is given below. Find
out how many units of X and Y should Sumit purchase so that, he gets maximum

saﬁsfacﬁon.ﬁﬁl’ﬁ%ﬂ?%?’ |W%Wﬁa@xﬁ?aﬁrv@ﬂmm
gl aF] X 3R &g Y SR HIAT 10 T FHS &1 € X TAUT a&] Y HT HAA
3ufarar @ A & a1 § | A RfST % giaa avg xaur aeq v fhaer
gersdl @il fored 38 3fUsds dqie ured & |

2
Units of 1 2 3 4 5 6 7 8 9 10
commodity
MU of X 80 72 64 56 48 40 32 24 16 8
MU of Y 40 32 24 20 16 12 8 4 0 0

17. Draw a Less Than and More Than Ogive Curve on the same graph paper , using the

following data: fFATIT@T 3MsT &, Teh & P YR R, 'Y FF' T ' TS TIAT
gfcd ash qATST|

Weekly 0-20 20-40 40-60 60-80 80-100
Wages (Rs.)

No. of 10 20 40 20 10
Workers




